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FIGURE Q1
(a) Find the length of the line segment with the point (-2, 10) and point (12, -2)
(3 marks)
(b) Find the slope of the line by going from point (0, 8) and point (8, 0)
(3 marks)
() Find the equation of the straight line from point (0, 8) and point (8, 0)
(4 marks)
(d) Find the equation of the straight line that passes through the point (5, 3)
and is perpendicular to the straight line from point (0, 8) and point
(8, 0)
(5 marks)
(e) Find the equation of the straight line that passes through the point (0, 8)
and is parallel to the straight line from point (0, 2) and point
(5, 3)
(5 marks)
Q2 (a) Using the method of factorization, solve the following quadratic equations
1 2Q2x° +x)=x>-3x+2
e AR M AR (4 marks)
TERRI KA |
.1 3 5 BERREU AN |
(i) —+ =— s EO |
x (x-2) 8
(5 marks)

(b) Solve x* + %x :§ the following quadratic equation by using quadratic formula

(4 marks)
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FIGURE Q2(C)

(¢) John’s garden is rectangular in shape with a length of 32 meters and width of 24 meters
as shown in FIGURE Q2(C). He wants to have a pedestrian pathway installed all around
to increase the total area to 1200 square meters. What will be the width of the pathway?

(7 marks)
Q3 (a) Solve each of the following inequalities
(1) 4x+3>2(3x-1)
(i) |-3x-1>5
(6 marks)
(b) Express ﬂ in partial fractions
X" +x-6
(4 marks)
(c) IfQ(3,-4) be a point on the terminal side of an angle #. Find the value
of the following
(i) sinéd
(i1) cos@ e ——
[ i
(i) tan 6 TERBUKA |
(6 marks)
(d) Prove that 19, 00 ;. 004 cota
lI-cotd 1—tané
(4 marks)
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Q4 (a) Given Z1=5+12iand Z>=1—+/3i , find the following expressions in polar form.

s Ll
1 PSS
() =
(3 marks)
(i) Z:1Z2
(2 marks)
(b)Let Z=1+ Y. , find Z° using De Moivre’s Theorem
(5 marks)

(c) Hashim feeds his cats with different mixture of three types of food, namel X, Y, and Z,
as given below

Food X: 10mg protein, Smg carbohydrates, 15mg vitamins
Food Y: 15mg protein, 10mg carbohydrates, Smg vitamins
Food Z: 15mg protein, 5mg carbohydrates, 15mg vitamins

Assume that cats require 190mg of protein, 95mg of carbohydrates and 160mg of
vitamins
(1) Form a system of linear equations based on the above information

(5 marks)

(i) Find how many grams of each food should Hashim feed his cats daily to satisfy their

nutrient requirements using Cramer’s rule
(5 marks)

Q5 (2) Givenu=i-3;+7k and v= 8i—2j—2k, determine the following expressions

@ u.v
(uxv
(iii) the angle between u and v
(9 marks)
(b) Givena=3/-2;+3k,b= j—4k andc= 2i+4j+6k. Find:
(i a.(bxc) j i
i) (@ x b). ¢ | 18] {9
E AR (6 marks)
_1)\2 _ Q)2
(c) Sketch the graph of (x641) + O 258) =1 and locate the foci.
(5 marks)
-END OF QUESTIONS-
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Linear equations:

d :\/(xz—xl)2 + (32— )?

2 2
Quadratic equation:
e —b++/b*—4ac

2a

Trigonometry:
sin’@+cos’ @ =1
tan’@+1=sec’ @
cot’d+1=csc* @

(;,;):(xl +X, ’yl +y2)

sin2a =2sina@ cosa

cos2a =cos’ @ —sin’ @

Solution of Systems of linear:

AIJ — (_1)i+jM

Complex Numbers:
i =-1

7= rei(19+2k7r)

Vectors:

,V, = ‘\/V12 +V22 +V32

Conic sections:
Circle:

x2 +y2 e r2
(x—h*+(y—k)* =r?

Ellipse:

2 2
x_z + y—z =1
a b

_\2 AY
G G-R’ _,
a b

BBM 10303

slope = Xz_—yl,x2 * X,
o =y

y=mx+c

y—y=m(x—x)

sin(a + ) =sin @ cos f+cosasin B
cos(a t f)=cosacos fFsinasin S

tan o £ tan
tan(aiﬂ):_*ﬁ
1Ftana tan f
tan2q =20 g4t gy
1-tan” &
D D D,
Xy =i Xy = , X3 =
o~ |p |

e’ =cos@+isin @

a-b

COS&:W

Parabola:

x*=4py

Vertical: (x—A)* =4 p(y—k)
Horizontal: (y—k)* =4p(x—h)

Hyperbola:
-k (x-h)’
a“ b :
(x-h)’ (y—k)’
P :
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